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1. &��� � ����'� �%�����/ ��%&�����/ 

&5?O<< >E6>5=<O 4<EF<??<=O «'?D46?5=<5 ?D>5>F4<<» O6?ONFEO: 
D>D<<D>64=<5 G EFG45=F>6 7?G5>><E F5>D5F<G5E><E 7=4=<= 6 >5?4EF< G?D46?5=<O ?D>5>F4<<, 
4 F4>65 ?D4>F<G5E><E =46O>>6 ?> >55E?5G5=<N E>45D64=<O ?D>5>F=OE >?5D4F<=,  
>?D545?5=<O ED>>>6 < EF><<>EF< ?D>5>F=OE >?5D4F<=,  >?D545?5=<O >4G5EF64 ?D>5>F=OE 
>?5D4F<=, >?D545?5=<O D5EGDE>6 ?D>5>F=OE >?5D4F<=. 

�444G4<< 4<EF<??<=O «'?D46?5=<5 ?D>5>F4<<» O6?ONFEO: 
D>D<<D>64=<5 G EFG45=F>6 F5>D5F<G5E><E 7=4=<= 6 >5?4EF< G?D46?5=<O ?D>5>F4<< < 
?D<6<F<O  ?D4>F<G5E><E =46O>>6 ?> <E?>?L7>64=<N 6>7<>6=>EF5= 6OG<E?<F5?L=>= F5E=<>< 
< 55 ?D>7D4<<=>7> >55E?5G5=<O 4?O G?D46?5=<O ?D>5>F4<<. 

2. ��%&� ��%&�����/ � %&$'�&'$� ���� 

'G55=4O 4<EF<??<=4 «'?D46?5=<5 ?D>5>F4<<» (��.�.4) >F=>E<FEO > 64D<4F<6=>= 
G4EF< >5M5?D>D5EE<>=4?L=>7> F<>?4 < =4E>4<FEO 6 ?>7<G5E>>= < E>45D64F5?L=>-
<5F>4<G5E>>= E6O7< E 4DG7<<< 4<EF<??<=4<< (<>4G?O<<, ?D4>F<>4<<). 

�D54L5EF6GNM<5 4<EF<??<=O 
(>GDEO, <>4G?<, ?D4>F<><) 

�>E?54GNM<5 4<EF<??<=O (>GDEO, <>4G?<, 
?D4>F<><) 

�E=>6O M>>=><<><, <5=546<5=F4 
< <4D>5F<=74 

- 

�D<>?44=O5 >><?LNF5D=O5 
?D>7D4<<O 6 ?D>D5EE<>=4?L=>= 
45OF5?L=>EF< 
�E=>6O ?D54?D<=<<4F5?LE>>= 
45OF5?L=>EF< 

&D55>64=<O > 6E>4=O< 7=4=<O<:  
'<5FL: 
3 �5D454FO64FL F5>EF>6GN < G<E?>6GN <=D>D<4F<N;  
3 �D<<5=OFL <G?LF<<54<==O5 F5E=>?>7<< >5D45>F>< < ?D54EF46?5=<O 

<=D>D<4F<<;  
3 �5D454FO64FL M>>=><<G5E>GN < EF4F<EF<G5E>GN <=D>D<4F<N, <E?>?L7GO 

ED54EF64 ?4>5F4 ?D<>?44=OE ?D>7D4<<. 
�=4FL: 
3 �47=4G5=<5 < 6<4O <=D>D<4F<>==OE F5E=>?>7<=, F5E=>?>7<< E5>D4, 

=4>>??5=<O, >5D45>F><, ?5D544G< < D4E?D>EFD4=5=<O <=D>D<4F<<; 
3 %>EF46, EFDG>FGDG, ?D<=F<?O D54?<74F<< < DG=>F<>=<D>64=<O 

<=D>D<4F<>==OE F5E=>?>7<=; 
3 �47>6O5 < ?D<>?44=O5 <=D>D<4F<>==O5 F5E=>?>7<<; 
3 �=EFDG<5=F4?L=O5 ED54EF64 <=D>D<4F<>==OE F5E=>?>7<=. 
 

3. &$�������/ � $��'�,&�&�� �%�����/ %���$����/ 
��%&�����/ 

�D>F5EE <7GG5=<O 4<EF<??<=O =4?D46?5= =4 D>D<<D>64=<5 M?5<5=F>6 E?54GNM<E 
>><?5F5=F<= ?> 44==>= E?5F<4?L=>EF<: 

4) >5M<5 (��): 

�� 01. �O5<D4FL E?>E>5O D5L5=<O 7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 
?D<<5=<F5?L=> > D47?<G=O< >>=F5>EF4<; 

�� 02. �E?>?L7>64FL E>6D5<5==O5 ED54EF64 ?><E>4, 4=4?<74 < <=F5D?D5F4F<< 
<=D>D<4F<<, < <=D>D<4F<>==O5 F5E=>?>7<< 4?O 6O?>?=5=<O 7444G ?D>D5EE<>=4?L=>= 
45OF5?L=>EF<; 
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� D57G?LF4F5 >E6>5=<O 4<EF<??<=O EFG45=F 4>?65=: 
'<5FL: 

- 6O?>?=OFL 45OF5?L=>EFL ?> ?D>5>FG 6 ?D545?4E 7>=O >F65FEF65==>EF<; 
- >?<EO64FL E6>N 45OF5?L=>EFL 6 D4<>4E ?D>5>F4; 
- E>?>EF46?OFL F5?L E6>5= 45OF5?L=>EF< E F5?LN ?D>5>F4; 
- >?D545?OFL >7D4=<G5=<O < 4>?GM5=<O E6>5= 45OF5?L=>EF< 6 D4<>4E ?D>5>F4; 
- D45>F4FL 6 6<DFG4?L=OE ?D>5>F=OE ED544E; 
- >?D545?OFL E>EF46 >?5D4F<= 6 D4<>4E E6>5= 7>=O >F65FEF65==>EF<; 
- <E?>?L7>64FL L45?>=O >?5D4F<=; 
- >?D545?OFL EF><<>EFL ?D>5>F=OE >?5D4F<= 6 D4<>4E E6>5= 45OF5?L=>EF<; 
- >?D545?OFL 4?<F5?L=>EFL >?5D4F<= =4 >E=>64=<< EF4F<EF<G5E><E 44==OE; 
- >EGM5EF6?OFL ?>47>F>6>G >FG5F4 >5 <E?>?=5=<< >?5D4F<<; 
- >?D545?OFL <7<5=5=<O EF><<>EF< >?5D4F<=; 
- >?D545?OFL D4>F>DO, >>47O64NM<5 6?<O=<5 =4 >4G5EF6> D57G?LF4F4 ?D>5>F=OE 
>?5D4F<=; 
- 4>>G<5=F<D>64FL D57G?LF4FO >F5=>< >4G5EF64; 
- 6O?>?=OFL >>DD5>F<DGNM<5 45=EF6<O ?> >4G5EF6G ?D>5>F=OE >?5D4F<=; 
- >?D545?OFL D5EGDE=O5 ?>FD55=>EF< ?D>5>F=OE >?5D4F<=; 
- >?D545?OFL >><??5>F=>EFL ?>EF46>> D5EGDE>6; 
- >?D545?OFL < 4=4?<7<D>64FL D<E>< ?D>5>F=OE >?5D4F<=; 
- <E?>?L7>64FL <5F>4O E5>D4 <=D>D<4F<< > D<E>4E ?D>5>F=OE >?5D4F<=; 
- E>EF46?OFL E?<E>> ?>F5=F<4?L=OE 45=EF6<= ?> D547<D>64=<N =4 D<E>< 
?D>5>F=OE >?5D4F<=; 
- ?D<<5=OFL <5F>4O E=<65=<O D<E>>6 ?D<<5=<F5?L=> > ?D>5>F=O< >?5D4F<O<; 

 
�=4FL: 

- ?D46<?4 ?>EF4=>6>< F5?5= < 7444G ?D>5>F4; 
- >E=>6O ??4=<D>64=<O; 
- 4>F<6O >D74=<74F<>==>7> ?D>F5EE4; 
- L45?>=O, D>D<O, EF4=44DFO E>45D64=<O ?D>5>F4; 
- ?D>F54GDO 65D<D<>4F<< < ?D<5<>< D57G?LF4F>6 ?D>5>F4; 
- F5>D<N < <>45?< 6<7=5==>7> F<>?4 ?D>5>F4; 
>?4EE<D<>4F<N ?D>5>F>6; 
- MF4?O ?D>5>F4; 
- 6=5L=<5 D4>F>DO E6>5= 45OF5?L=>EF<; 
- E?<E>> >>=FD>?L=OE E>5OF<= ?D>5>F4; 
- F5>GMGN EF><<>EFL D5EGDE>6, =5>5E>4<<OE 4?O 6O?>?=5=<O E6>5= 45OF5?L=>EF<; 
- EF4=44DFO >4G5EF64 ?D>5>F=OE >?5D4F<=; 
- D4E?<E4=<5 ?D>5>F4; 
- >D<F5D<< ?D<5<>< ?D>5>F=OE >?5D4F<=; 
- EF4=44DFO 4>>G<5=F<D>64=<O >F5=>< >4G5EF64; 
- E?<E>> ?D>F54GD >>=FD>?O >4G5EF64; 
- ?5D5G5=L >>DD5>F<DGNM<E 45=EF6<= ?> >>=FD>?N >4G5EF64 ?D>5>F=OE >?5D4F<=; 
- EE5<O ?>>MD5=<O < 67OE>4=<O; 
- 45D56> ?D>5>F=OE >?5D4F<=; 
- E?5F<D<>4F<<, F5E=<G5E><5 FD55>64=<O > D5EGDE4<; 
- >5N5<=>->4?5=44D=O5 ED>>< ?>EF46>< D5EGDE>6; 
- <5F>4O >?D545?5=<O D5EGDE=OE ?>FD55=>EF5= ?D>5>F4; 
- >?4EE<D<>4F<N ?D>5>F=OE D<E>>6; 
- <5F>4O >F>5D465=<O D<E>>6 E ?><>MLN 4<47D4<<; 
- <5F>4O E5>D4 <=D>D<4F<< > D<E>4E ?D>5>F4; 
- <5F>4O E=<65=<O D<E>>6. 
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�D4>F<G5E><= >?OF: $��% %�� =5 ?D54GE<>FD5=. 
 

4. ��.�� ��%&�����/ � ���/ ''����� $���&/ 

�5M<= >5N5< 4<EF<??<=O E>EF46?O5F 78 G4E>6. 
�G=4O D>D<4 >5GG5=<O 

�<4 GG55=>= D45>FO �E57> 
G4E>6 

%5<5EFD 
4* (6**) 

�G4<F>D=O5 74=OF<O (D45>F4 >5GG4NM<EEO 6> 
674<<>45=EF6<< E ?D5?>4464F5?5<) (6E57>) 

62 62 

6 F>< G<E?5:   
�5>F<< (�) 30 30 
�D4>F<G5E><5 74=OF<O (��) 30 30 
%5<<=4DO (%)   
�45>D4F>D=O5 D45>FO (�$)   
�>=EG?LF4F<O 2 2 
%4<>EF>OF5?L=4O D45>F4 (6E57>) (%$) 16 16 
6 F>< G<E?5:   
�GDE>6>= ?D>5>F (D45>F4)   
$4EG5F=>-7D4D<G5E><5 D45>FO   
�>=FD>?L=4O D45>F4   
$5D5D4F   
%4<>?>47>F>6>4 (E4<>EF>OF5?L=>5 <7GG5=<5 D4745?>6, 
?D>D45>F>4 < ?>6F>D5=<5 ?5>F<>==>7> <4F5D<4?4 < <4F5D<4?4 
GG55=<>>6 < GG55=OE ?>E>5<=, ?>47>F>6>4 > ?45>D4F>D=O< < 
?D4>F<G5E><< 74=OF<O< < 4D.) 

8 8 

�<4 ?D><56GF>G=>= 4FF5EF4F<< (74G5F)  ->74<5= 
�5M<= >5N5<, G4E 78 78 

* =4 5475 ED54=57> >5M57> >5D47>64=<O 
** =4 5475 >E=>6=>7> >5M57> >5D47>64=<O 

5. %���$����� � %&$'�&'$� ��%&�����/ 

5.1. %>45D64=<5 4<EF<??<=O 

7 
D4745?4 
(F5<O) 

�4<<5=>64=<5 D4745?4 
(F5<O) 

%>45D64=<5 D4745?4 (F5<O) 

1.  '?D46?5=<5 ?D>5>F4<< 1.%GM=>EFL ?D>5>F=>7> G?D46?5=<O, ?D>F5EEO 
G?D46?5=<O ?D>5>F4<<.  
2.'?D46?5=<5 ?D>5>F4<< 6 >><<5DG5E><E < 
7>EG44DEF65==OE >D74=<74F<OE.  
3.�D74=<74F<O G?D46?5=<O ?D>5>F4<<.  
4.�D>F5EE ??4=<D>64=<O >4> >E=>6=>= M?5<5=F 
G?D46?5=<O ?D>5>F><.  
5.�D<F5D<< GE?5L=>7> G?D46?5=<O ?D>5>F><. 

2.  �D>F5EEO 6<7=5==>7> 
F<>?4 ?D>5>F4  

1.�?4=<D>64=<5 ?D>5>F4 < 57> 6<7=5==O= F<>?.  
2.�4FD<F4 7444G < >F65FEF65==>EF<. 3.�D>F5EEO 
6<7=5==>7> F<>?4 ?D>5>F4: >F5=>4, ??4=<D>64=<5, 
6O?>?=5=<5, >>=FD>?L, 7465DL5=<5.  
4.�5F>4O ??4=<D>64=<O <E?>?=5=<O ?D>5>F4 E GG5F>< 



6 
 

>7D4=<G5==>EF< D5EGDE>6, >?F<<<74F<O D4E?<E4=<O 
D45>F, <EE>4O <7 D47?<G=OE >D<F5D<56 GE?5L=>EF< 
?D>5>F4. 

3.  '?D46?5=<5 ED>>4<< < 
EF><<>EFLN ?D>5>F4 

1.'?D46?5=<5 5N465F>< ?D>5>F4: EF><<>EF=>= 4=4?<7 
<E?>?=5=<O ?D>5>F4, D<=4=E>6O= 4=4?<7 ?D>5>F4, 
>5>E=>64=<5 < 4=4?<7 ?D>5>F=OE <=65EF<F<=.  
2.�5F>4O < ?D4>F<>< >F5=>< ?D>5>F>6.  
3.�74<<>45=EF6<5 E �4>47G<>>< < E?>=E>D>< ?D>5>F4, 
?>?GG5=<5 >FG5F=>EF< «E=<7G» < D>D<<D>64=<5 
>FG5F=>EF< «=465DE». 

4.  '?D46?5=<5 
?5DE>=4?>< ?D>5>F4 
 

1.$>D<<D>64=<5 >><4=4O ?D>5>F4.  
2.�?NG56O5 D<7GDO ?D>5>F4 3 <E 7444G< < <=F5D5EO.  
3.�F65FEF65==>EFL >?NG56OE D<7GD 74 GE?5E 
?D54?D>5>F=>= EF44<< < EF44<< 6O?>?=5=<O ?D>5>F4.  
4.'?D46?5=<5 >><4=4>= ?D>5>F4 

5.  '?D46?5=<5 D<E>4<< < 
>4G5EF6>< ?D>5>F4 

1.�E=>6=4O < 6E?><>74F5?L=4O >><?>=5=FO ?D>F5EEO 
<E?>?=5=<O < >>=FD>?O.  
2.�>=FD>?L D45>F, D4E?<E4=<O < 74FD4F.  
3.'?D46?5=<5 D<E>4<< ?D>5>F4.  
4.'?D46?5=<5 >4G5EF6>< ?D>5>F4 

6.  �D>F5EE G?D46?5=<O 
<E?>?=5=<5< ?D>5>F4 

1.�=4?<7 ??4=4 ?D>5>F4 < ?D>F5EE4 <E?>?=5=<O ?D>5>F4.  
2.�D>F5EE G?D46?5=<O <E?>?=5=<5< ?D>5>F4, ?D>F5EE 
7465DL5=<O ?D>5>F4.  
3.%>?D>F<6?5=<5 =>6>66545=<O<, E4D4>F5D<EF<>< 
MDD5>F<6=>= >><4=4O G?D46?5=<O ?D>5>F><. 
4.%>?D>F<6?5=<5 <==>64F<>==>= 45OF5?L=>EF< < 57> 
?D5>4>?5=<5.  
5.%>?D>F<6?5=<5 D54?<74F<< E>F<4?L=OE ?D>5>F>6 < 57> 
?D5>4>?5=<5. 

7.  �=D>D<4F<>==O5 
E<EF5<O G?D46?5=<O 
?D>5>F4<< 

�=D>D<4F<>==O5 E<EF5<O G?D46?5=<O ?D>5>F4<<. 
Microsoft Project  

 

5.2. %FDG>FGD4 4<EF<??<=O 

7 
D4745?4 
(F5<O) 

�4<<5=>64=<5 D4745?4 (F5<O) �>?<G5EF6> G4E>6 

�E57>  � �� (%) �$ %$ 

1. '?D46?5=<5 ?D>5>F4<< 9 4 4 3 1 
2. �D>F5EEO 6<7=5==>7> F<>?4 ?D>5>F4  9 4 4 3 1 
3. '?D46?5=<5 ED>>4<< < EF><<>EFLN ?D>5>F4 9 4 4 3 1 
4. '?D46?5=<5 ?5DE>=4?>< ?D>5>F4 9 4 4 3 1 
5. '?D46?5=<5 D<E>4<< < >4G5EF6>< ?D>5>F4 9 4 4 3 1 
6 �D>F5EE G?D46?5=<O <E?>?=5=<5< ?D>5>F4 9 4 4 3 1 
7 �=D>D<4F<>==O5 E<EF5<O G?D46?5=<O 

?D>5>F4<< 
14 6 6 

3 
2 

 �>=EEG?LF4F<O 2 3 3 3 3 
 �FF5EF4F<O 8 3 3 3 3 
 �5M<= >5N5<, G4E 78 30 30 3 8 

5.3. �D4>F<G5E><5 74=OF<O < E5<<=4DO 
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7 
?/? 

7 D4745?4 
(F5<O) 

&5<4 
�>?-6> 

G4E 
1 1. '?D46?5=<5 ?D>5>F4<< 4 

2 2. �D>F5EEO 6<7=5==>7> F<>?4 ?D>5>F4  4 

3 3. '?D46?5=<5 ED>>4<< < EF><<>EFLN ?D>5>F4 4 

4 4. '?D46?5=<5 ?5DE>=4?>< ?D>5>F4 4 

5 5. '?D46?5=<5 D<E>4<< < >4G5EF6>< ?D>5>F4 4 

6 6 �D>F5EE G?D46?5=<O <E?>?=5=<5< ?D>5>F4 4 

7 7 �=D>D<4F<>==O5 E<EF5<O G?D46?5=<O ?D>5>F4<< 6 

 

5.4. �45>D4F>D=O5 D45>FO 

=5 ?D54GE<>FD5=O 

5.5. �GDE>6>= ?D>5>F (>GDE>64O D45>F4, D4EG5F=>-7D4D<G5E>4O D45>F4, D5D5D4F, 
>>=FD>?L=4O D45>F4)  

=5 ?D54GE<>FD5=O  

5.6. %4<>EF>OF5?L=>5 <7GG5=<5 D4745?>6 (F5<) 4<EF<??<=O 

7 D4745?4 
(F5<O) 

&5<O, 6O=>E<<O5 =4 E4<>EF>OF5?L=>5 <7GG5=<5 �>?<G5EF6> 
G4E>6 

1. '?D46?5=<5 ?D>5>F4<< 1 
2. �D>F5EEO 6<7=5==>7> F<>?4 ?D>5>F4  1 
3. '?D46?5=<5 ED>>4<< < EF><<>EFLN ?D>5>F4 1 
4. '?D46?5=<5 ?5DE>=4?>< ?D>5>F4 1 
5. '?D46?5=<5 D<E>4<< < >4G5EF6>< ?D>5>F4 1 
6 �D>F5EE G?D46?5=<O <E?>?=5=<5< ?D>5>F4 1 
7 �=D>D<4F<>==O5 E<EF5<O G?D46?5=<O ?D>5>F4<< 2 
 �5M<= >5N5<, G4E 8 
 

6. ��$�����&��,�/� &�%������� 
�E=>6=O5 F5E=>?>7<< >5GG5=<O: 
ý D45>F4 E <=D>D<4F<5=, 6 F>< G<E?5 E <E?>?L7>64=<5< D5EGDE>6 E5F< �=F5D=5F; 
ý ?>47>F>6>4 < D54?<74F<O ?D>5>F>6 (<G?LF<<54<==OE ?D575=F4F<= < ?D.) ?> 74D4=55 

7444==>= F5<5; 
ý <EE?54>64=<5 >>=>D5F=>= F5<O < >D>D<?5=<5 D57G?LF4F>6 6 6<45 4>>?444 E 

?D575=F4F<5=; 
ý D45>F4 E F5>EF4<< GG55=<>4, 4>?>?=<F5?L=>= ?<F5D4FGD>=; 
ý 6O?>?=5=<5 <=4<6<4G4?L=OE 7444=<=. 
�=D>D<4F<>==O5 F5E=>?>7<<: 
ý E5>D, ED4=5=<5, E<EF5<4F<74F<O, >5D45>F>4 < ?D54EF46?5=<5 GG55=>= < =4GG=>= 

<=D>D<4F<<; 
ý >5D45>F>4 D47?<G=>7> D>44 <=D>D<4F<< E ?D<<5=5=<5< E>6D5<5==OE 

<=D>D<4F<>==OE F5E=>?>7<=; 
ý E4<>EF>OF5?L=O= ?><E> 4>?>?=<F5?L=>7> GG55=>7> < =4GG=>7> <4F5D<4?4, E 

<E?>?L7>64=<5< ?><E>>6OE E<EF5< < E4=F>6 E5F< �=F5D=5F, M?5>FD>==OE M=F<>?>?54<= < 547 
44==OE; 
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ý <E?>?L7>64=<5 M?5>FD>==>= ?>GFO ?D5?>4464F5?5= < >5GG4NM<EEO 4?O D4EEO?><, 
?5D5?<E>< < >5EG645=<O 6>7=<>L<E GG55=OE ?D>5?5<. 

ý <E?>?L7>64=<5 4<EF4=F<>==OE >5D47>64F5?L=OE F5E=>?>7<= (?D< =5>5E>4<<>EF<). 
 

�>F<6=O5 < <=F5D4>F<6=O5 >5D47>64F5?L=O5 F5E=>?>7<<, <E?>?L7G5<O5 6 
4G4<F>D=OE 74=OF<OE 

7 
D4745?4 
(F5<O) 

�<4 74=OF<O 
(�, ��, %, �$) 

�E?>?L7G5<O5 <=F5D4>F<6=O5 < 4>F<6=O5 
>5D47>64F5?L=O5 F5E=>?>7<< 

�>?<G5EF6> 
G4E>6 

1 � �5>F<O-4<E>GEE<O. 2 
2 �� $45>F4 <4?O<< 7DG??4<< 2 
3 � �5>F<O-6<7G4?<74F<O 4 

 
�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO  

7 D4745?4 
(F5<O) 

�<4 
74=OF<O 
(��, �$, 

�$) 

�<4O D45>F �>?<G5EF6> 
G4E>6 

- - - - 
7. �&���'�/� %$��%&�� ��/ &��'-��� ���&$��/ 
'%�������%&�, �$����'&�'��� �&&�%&�&�� �� �&���� �%�����/ 
��%&�����/ � ''����-��&���'�%��� ���%��'���� 
%���%&�/&��,��� $���&/  

�?O 4FF5EF4F<< >5GG4NM<EEO =4 E>>F65FEF6<5 <E ?5DE>=4?L=OE 4>EF<65=<= ?>MF4?=O< 
FD55>64=<O< E>>F65FEF6GNM5= ���� E>744NFEO >><??5>FO >F5=>G=OE <4F5D<4?>6 (D>=4O 
>F5=>G=OE ED54EF6). � >4G5EF65 >F5=>G=OE <4F5D<4?>6 >>=FD>?O 7=4=<= ?D<<5=ONFEO: 
>>=FD>?L=O5 6>?D>EO 4?O GEF=>7> >?D>E4; 7444=<O 4?O E4<>EF>OF5?L=>= D45>FO, ?D<<5D=O5 
?D4>F<G5E><5 D45>FO, 7444=<O 4?O >>=FD>?L=>= D45>FO, >>=FD>?L=O5 6>?D>EO 4?O 
?D><56GF>G=>= 4FF5EF4F<<, ?>76>?ONM<5 >F5=<FL 7=4=<O, G<5=<O. 

&<?>6O5 6>?D>EO 4?O GEF=>7> >?D>E4 

1. �4><5 646=O5 E?5F<D<G5E><5 E4D4>F5D<EF<>< ?D<EGM< ?N5><G ?D>5>FG? 
2. �5D5G<E?<F5 ?D<=F<?O, >4><<< =5>5E>4<<> DG>>6>4EF6>64FLEO ?D< D47D45>F>5 <5F>4>6 < 

EF4=44DF>6 G?D46?5=<O ?D>5>F4<<. 
3. � G5< 74>?NG45FEO 646=>EFL ?D46<?L=>= ?>EF4=>6>< F5?5= ?D>5>F4? �4><< >D<F5D<O< MF< 

F5?< 4>?6=O >F65G4FL? 
4. �5D5G<E?<F5 6=5L=<5 D4>F>DO, >>47O64NM<5 6?<O=<5 =4 ?D>5>F. 
5. �5D5G<E?<F5 DG=>F<<, >>F>DO5 6O?>?=ONF GG4EF=<>< ?D>5>F4 =4 D47=OE EF44<OE 57> 

6<7=5==>7> F<>?4. �4> <5=ONFEO DG=>F<< 6 746<E<<>EF< >F D47O ?D>5>F4? 
6. �5NOE=<F5, ?>G5<G 646=> 4>5<64FLEO E>7?4E>64=<O <=F5D5E>6 6E5E GG4EF=<>>6 ?D>5>F4. 
7. �EE>4O <7 >4><E >D<F5D<56 <>6=> 6O45?OFL D47O 6<7=5==>7> F<>?4 ?D>5>F4? 
8. �4><<< ?D5<<GM5EF64<< >5?444NF D47=O5 F<?O >D74=<74F<>==OE EFDG>FGD, 6 D4<>4E 

>>F>DOE <>65F 5OFL D54?<7>64= ?D>5>F? 
9. 'F> F4>>5 <574-?D>5>FO? �D<654<F5 <765EF=O5 64< ?D<<5DO. 
10. �47>6<F5 D4>F>DO, >>F>DO5, ?> 64L5<G <=5=<N, 6O7O64NF ?>O6?5=<5 ?D>5>F>6. 
11. 'F> 4>?6=4 GG<FO64FL M>>=><<G5E>4O <>45?L ?D>5>F4? 
12. �>OE=<F5 EGFL ?D>5>F=>7> ?>4E>44 > >D74=<74F<< 5<7=5E4. 
13. � G5< 74>?NG45FEO D47=<F4 <564G D<E>>< < =5>?D545?5==>EFLN? �5NOE=<F5, ?>G5<G D<E> 4 

5>?55 646=4O >4F57>D<O 4?O ?D>5>F=>= 45OF5?L=>EF< < ?>G5<G D<E> >5N5>F<6=> E6>=EF65=5= 
?N5O< ?D>5>F4<. 

14. � G5< E>EF><F 646=>EFL ?D46<?L=>= >?4EE<D<>4F<< D<E>>6 ?D< G?D46?5=<< ?D>5>F4<<? 
15. �4><< >5D47>< >EGM5EF6?O5FEO G?D46?5=<5 ?D>5>F=O<< D<E>4<<? �5D5G<E?<F5 >E=>6=O5 

MF4?O G?D46?5=<O D<E>4<< < >5D<EG=F5 >DG7 6<4>6 45OF5?L=>EF<, E6O74==O= E >464O< 
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MF4?><. 
16. �4><5 <5F>4O >>?<G5EF65==>= >F5=>< ?D>5>F=OE D<E>>6 �O 7=45F5? 
17. � G5< E<OE? 6545=<O 6GD=4?4 D<E>>6 ?D>5>F4? 
18. �5D5G<E?<F5, >4><5 7444G< D5L45F ??4=<D>64=<5 ?D>5>F4. 
19. �5D5G<E?<F5, >4><5 MF4?O 6>?NG45F 6 E55O EF4=44DF=4O ?D>F54GD4 ??4=<D>64=<O. 
20. �4G5< =G6=> >EGM5EF6?OFL 45>><?>7<F<N ?D>5>F4? �4 >4><E ?D<=F<?4E >=4 

>EGM5EF6?O5FEO? 
21. �4 >E=>65 >4><E >D<F5D<56 ?D>6>4<FEO D475<5=<5 ?D>5>F4 =4 7444G< < ?4>5FO D45>F? 
22. �5D5G<E?<F5, >4><5 DG=>F<< 6O?>?=ONF 6 ??4=<D>64=<< ?D>5>F4 E5F56>5, >4?5=44D=>5 

??4=<D>64=<5. 
23. �4 >E=>64=<< >4><E <5F>4>6 >EGM5EF6?O5FEO E5F56>5 < >4?5=44D=>5 ??4=<D>64=<5 ?D>5>F4? 
24.  �4><<< <5F>44<< <>6=> >?D545?<FL 4?<F5?L=>EFL >?5D4F<= 
25. ?D>5>F4? �>G5<G <5F>4 PERT =4<5>?55 G4EF> <E?>?L7G5FEO ?D< >?D545?5=<< 4?<F5?L=>EF< 

>?5D4F<=? 
26. �4> =4?<G<5 45D<F<F=OE <?< <75OF>G=OE D5EGDE>6 <>65F ?>6?<OFL =4 D4E?<E4=<5 ?D>5>F4? 
27. % ?><>MLN >4><E <5F>4>6 <>6=> >F5=<FL EF><<>EFL ?D>5>F=OE D45>F? �4><5 6>7=<>4NF 

?D>5?5<O ?D< <E?>?L7>64=<< >464>7> <7 ?>4E>4>6 > >F5=>5 EF><<>EF<? 
28. �4>GN D>?L <7D45F 5N465F 6 ??4=<D>64=<< ?D>5>F4 < G?D46?5=<< <<? �4><<< <5F>44<< 

>EGM5EF6?O5FEO D>D<<D>64=<5 5N465F4 ?D>5>F4? 
29. �4> >D74=<7G5FEO D<=4=E<D>64=<5 ?D>5>F4? 
30. �5D5G<E?<F5, >4><5 <EF>G=<>< D<=4=E<D>64=<O ?D>5>F4 6O 7=45F5. � G5< ?D5<<GM5EF64 < 

=54>EF4F>< <E?>?L7>64=<O E>5EF65==OE < 745<=OE <EF>G=<>>6 D<=4=E<D>64=<O? 
31. �5NOE=<F5, >4>GN D>?L <7D4NF >>=FD>?L < <>=<F>D<=7 6 D54?<74F<< ?D>5>F4 
32. �5D5G<E?<F5, >4><<< <5F>44<< <>6=> >EGM5EF6<FL >>=FD>?L <E?>?=5=<O ?D>5>F4. 
33. �F> 4>?65= >EGM5EF6?OFL <>=<F>D<=7 D54?<74F<< ?D>5>F4? 
34. �>G5<G 6 E>45 D54?<74F<< ?D>5>F4 =5<7556=O <7<5=5=<O? 
35. �4> E>>F=>E<FEO E<EF5<4 G?D46?5=<O <7<5=5=<O<< < E<EF5<4 G?D46?5=<O >>=D<7GD4F<5= 

?D>5>F4? 
36. �4><5 F<?O 7444G ?D54GE<>FD5=O 6 MS Project? 
37. �4><5 F<?O >4?5=44D5= ?D54GE<>FD5=O 6 MS Project? 
38. �4> ?D>E<>FD5FL 4<47D4<<G �4=F4 4?O D47=OE 65DE<= ??4=4 ?D>5>F4? 
39. �4>4O <5F>4<>4 >F5=>< EF><<>EF< ?D>5>F4 <E?>?L7G5FEO 6 ED545 MS Project. 
40. �4><5 ?>?O MS Project ">F65G4NF" 74 4>EFG?=>EFL D5EGDE4? 
41. �7<5=O5F ?< ?D>7D4<<4 44==O5 4?O 7444G ?D< 4=4?<75 ?> <5F>4G PERT? 

 
�D<F5D<< < L>4?4 >F5=<64=<O GEF=>7> >?D>E4 

>F?<G=> 1) EFG45=F ?>?=> <7?4745F <4F5D<4?, 445F ?D46<?L=>5 >?D545?5=<5 
>E=>6=OE ?>=OF<=;  
2) >5=4DG6<645F ?>=<<4=<5 <4F5D<4?4, <>65F >5>E=>64FL E6>< 
EG645=<O, ?D<<5=<FL 7=4=<O =4 ?D4>F<>5, ?D<65EF< =5>5E>4<<O5 
?D<<5DO =5 F>?L>> <7 GG55=<>4, => < E4<>EF>OF5?L=> E>EF46?5==O5;  
3) <7?4745F <4F5D<4? ?>E?54>64F5?L=> < ?D46<?L=> E F>G>< 7D5=<O 
=>D< ?<F5D4FGD=>7> O7O>4.  

E>D>L> EFG45=F 445F >F65F, G4>6?5F6>DONM<= F5< 65 FD55>64=<O<, GF> < 
4?O >F<5F><, => 4>?GE>45F 132 >L<5><, >>F>DO5 E4< 65 <E?D46?O5F, 
< 132 =54>G5F4 6 ?>E?54>64F5?L=>EF< < O7O>>6>< >D>D<?5=<< 
<7?4745<>7>.  

G4>6?5F6>D<F5?L=> EFG45=F >5=4DG6<645F 7=4=<5 < ?>=<<4=<5 >E=>6=OE ?>?>65=<= 
44==>= F5<O, =>:  
1) <7?4745F <4F5D<4? =5?>?=> < 4>?GE>45F =5F>G=>EF< 6 >?D545?5=<< 
?>=OF<= <?< D>D<G?<D>6>5 ?D46<?; 
 2) =5 G<55F 4>EF4F>G=> 7?G5>>> < 4>>474F5?L=> >5>E=>64FL E6>< 
EG645=<O < ?D<65EF< E6>< ?D<<5DO;  
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3) <7?4745F <4F5D<4? =5?>E?54>64F5?L=> < 4>?GE>45F >L<5>< 6 
O7O>>6>< >D>D<?5=<< <7?4745<>7>.  

=5G4>6?5F6>D<F5?L=> EFG45=F >5=4DG6<645F =57=4=<5 5>?LL5= G4EF< E>>F65FEF6GNM57> 
6>?D>E4, 4>?GE>45F >L<5>< 6 D>D<G?<D>6>5 >?D545?5=<= < ?D46<?, 
<E>464NM<5 <E E<OE?, 55E?>DO4>G=> < =5G65D5==> <7?4745F 
<4F5D<4?. �F5=>4 «=5G4>6?5F6>D<F5?L=>» >F<5G45F F4><5 
=54>EF4F>< 6 ?>47>F>6>5, >>F>DO5 O6?ONFEO E5DL57=O< 
?D5?OFEF6<5< > GE?5L=><G >6?445=<N ?>E?54GNM<< <4F5D<4?><. 

 
3.2.2. &<?>6O5 7444=<O 4?O ?D4>F<G5E><E D45>F  

�D4>F<G5E>>5 7444=<5 71 
1. �765EF=>, GF> 45OF5?L=>EFL ?N5>7> ?D54?D<OF<O =4?D46?5=4 =4 4>EF<65=<5 >?D545?5==OE 
F5?5=. �N5>5 ?D54?D<OF<5 >7D4=<G5=> ?> 6D5<5=< E6>57> EGM5EF6>64=<O. �4>>=5F, 
GE?5L=O5 ?D54?D<OF<O 6E5744 G=<>4?L=O ?> ?D>4G>F4<, GE?G74< ?<5> 5<7=5E-<>45?O<. 
�>6=> ?< E>474FL, GF> ?N5>5 ?D54?D<OF<5 O6?O5FEO ?D>5>F><? �E?< 44 4 ?>G5<G? �E?< =5F 
4 >4><5 >7D4=<G<64NM<5 D4>F>DO E?54G5F 665EF< 6 44==O5 GF65D645=<O? 
2. �N5><G EFG45=FG ?D<E>4<?>EL ?<E4FL D5D5D4FO, >GDE>6O5 D45>FO < 6O?GE>=O5 
>64?<D<>4F<>==O5 D45>FO. �4644O <7 F4><E D45>F O6?O5FEO ?D>5>F><. �>G5<G? �D54EF46LF5 
64LG >GDE>6GN D45>FG >4> ?D>5>F. �4><<< E?5F<D<G5E><<< G5DF4<< >=4 >5?4445F? 
 
�D4>F<G5E>>5 7444=<5 72 
 
�4><5 M>>=><<G5E><5 E4D4>F5D<EF<>< >?<EO645F ?D>5>F 64L5= >GDE>6>= (6O?GE>=>= 
D45>FO)? �4> <>6=> GG5EFL ?D<=F<? 4?LF5D=4F<6=>EF<? �4><< 5G45F ?D<<5D=>5 E>45D64=<5 
M>>=><<G5E>>7> >5>E=>64=<O MF>7> ?D>5>F4? 
 
�D4>F<G5E>>5 7444=<5 73 
 
1. �<5NFEO 464 <=65EF<F<>==OE ?D>5>F4 < ?D>7=>7 <E 4>E>4=>EF< ?D< D47=OE E>EF>O=<OE 
DO=>4. �?D545?<F5 =4<5>?55 ?D54?>GF<F5?L=O= ?D>5>F < >5>E=G=F5 6O5>D. 
%>EF>O=<5 

DO=>4 
�D>5>F � �D>5>F � 

�>E>4 �5D>OF=>EFL �>E>4 �5D>OF=>EFL 
1 600 0,2 600 0,25 
2 500 0,3 450 0,25 
3 200 0,3 300 0,25 
4 100 0,2 150 0,25 

 
2. �?O ?D>5>F4 64L5= >GDE>6>= (6O?GE>=>=) D45>FO ?>?D>5G=F5 >?D545?<FL >E=>6=O5 6<4O 
D<E>4. �?D545?<F5 65D>OF=>EFL < FO65EFL D<E>>6 < E>EF46LF5 <4FD<FG D<E>>6. �4><<< 
<5F>44<< < =4 >E=>64=<< >4><E 44==OE <>6=> G?D46?OFL D<E>4<< 64L57> ?D>5>F4? %>744=F5 
6GD=4? D<E>>6 ?D>5>F4. 
 
�D4>F<G5E>>5 7444=<5 74 
 
�4< =G6=> >D74=<7>64FL ?D474=>64=<5 64L57> 4=O D>645=<O G5D57 464 <5EOF4. � MF>< 7>4G 
6O >F<5G45F5 N5<?5= < E>F<F5 ?D>65EF< 45=L D>645=<O F4>, GF>5O MF> 74?><=<?>EL 
5>?LL><G >>?<G5EF6G 64L<E 4DG75= < D>4=OE. ' 64E 5EFL 46>5 ?><>M=<>>6, >>F>DO5 7>F>6O 
D4745?<FL E 64<< E?>?>FO ?> >D74=<74F<< ?D474=<>4. %>EF46LF5 ??4= < <5D4DE<G5E>GN 
EFDG>FGDG D45>F 44==>7> ?D>5>F4. 
 
�D4>F<G5E>>5 7444=<5 75 
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�. 1 E5=FO5DO >464>7> 7>44 44<<=<EFD4F<O ?D54?D<OF<O E>EF46?O5F 5N465F =4 E?54GNM<= 
7>4. �D>F5EE E>EF46?5=<O 5N465F4 6>?NG45F 6 E55O >?5D4F<<, ?>>474==O5 6 F45?<F5. 

�?5D4F<O �D54L5EF6GN
M<5 >?5D4F<< 

�D5<O 
=545?L 

� 4 >F5=>4 EF46>> 74D45>F=>= ??4FO  - 2 
� 4 D47D45>F>4 ?D>7=>7>6 DO=>4  - 4 
% 4 >?D545?5=<5 F5= ?D>446  - 3 
D 4 5N465F<D>64=<5 >5N5<4 ?D>446 B 3 
� 4 5N465F<D>64=<5 6ODGG><  C, D 1 
F 4 5N465F<D>64=<5 ?DO<OE <745D65> A, D 3 
G 4 >F5=>4 >5N5<>6 ?D><76>4EF64  D 6 
H 4 5N465F<D>64=<5 =4>?44=OE D4EE>4>6 A 4 
I 4 5N465F<D>64=<5 FDG4>6OE D5EGDE>6  A, G 2 
J 4 5N465F<D>64=<5 EODLO G 3 
K 4 5N465F<D>64=<5 >4?<F4?L=OE G 5 
L 4 E>EF46?5=<5 ?D>7=>7=OE D>D< >FG5F=>EF< �, F, H, I, J, K 1 
%>EF46?5=<5 5N465F4 =5>5E>4<<> 74>>=G<FL > >>=FG 45>45DO, F4> GF> <<55FEO ?5D<>4 6 17 
=545?L. 
1. �>EFD>=F5 E5F56>= 7D4D, >FD464NM<= ?>E?54>64F5?L=>EFL 6O?>?=5=<O >?5D4F<=, 
6>?NG5==OE 6 ?>47>F>6>G 5N465F4. �>6=> ?< 74>>=G<FL 44==O= ?D>F5EE 6 F5G5=<5 17 
=545?L? 
2. �E?< 5O ?>FD55>64?>EL E>>D4F<FL 6D5<O =4 D>D<<D>64=<5 5N465F4, =4 >4><5 >?5D4F<< 
E?54>64?> 5O >5D4F<FL 6=<<4=<5 < ?>G5<G? 
�. �><?4=<O 6O?>?=O5F 74>47, ?>?GG5==O= >F ?>FD55<F5?O. 
�5>5E>4<<4O <=D>D<4F<O ?D<6545=4 =<65. 
�?5D4F<O 

 
�5?>ED54EF65==> 
?D54L5EF6GNM<5 

>?5D4F<< 

�D5<O 6O?>?=5=<O, 4=5= 
�?F<<<EF<

G5E>>5 
�4<5>?55 
65D>OF=>5 

�5EE<<<EF<
G5E>>5 

A - 3 4 5 
B - 4 7 10 
C - 4 5 6 
D A 5 6 7 
E B 2 3 6 
F C 10 12 14 
G D, E 3 4 5 
H G, F 1 2 9 

 
 
�>EFD>=F5 E5F56>= 7D4D, >?D545?<F5 >D<F<G5E><= ?GFL < ?D>4>?6<F5?L=>EFL ?D>5>F4. 
�. �>EFD>=F5 E5F56>= 7D4D 6O?>?=5=<O 64L5= >GDE>6>= (6O?GE>=>=) D45>FO. �4><5 
>?5D4F<< O6?ONFEO >D<F<G5E><<<? �4>>64 ?D>4>?6<F5?L=>EFL D45>FO =44 ?D>5>F>< 
(>F5=<F5 4?<F5?L=>EFL 
>?5D4F<= ?> <5F>4G PERT)? �4><5 D5EGDEO 64< =5>5E>4<<O? �>EFD>=F5 7D4D<> �4=F4 4?O 
D4E?D545?5=<O D5EGDE>6 < E>EF46?5=<O D4E?<E4=<O ?D>5>F4. 
 
�D4>F<G5E>>5 7444=<5 76 
 
�F5=<F5 EF><<>EFL 6O?>?=5=<O 64L5= >GDE>6>= (6O?GE>=>=) D45>FO. �4><5 74FD4FO < =4 
>4><E MF4?4E 6O?>?=5=<O ?D>5>F4 6O 5G45F5 =5EF<? �4><<< <5F>44<< 6O ?>?L7G5F5EL? 
%>EF46LF5 5N465F 64L57> ?D>5>F4. 
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�D4>F<G5E>>5 7444=<5 77 
 
�. �<55FEO <EE>4=4O <=D>D<4F<O ?> ?D>5>FG: ??4=>6O= >5N5< D45>F E>EF46?O5F 2200 
45=56=OE 54<=<F, >E6>5==O= >5N5< 4 2000 45=56=OE 54<=<F, D4>F<G5E>4O EF><<>EFL 
6O?>?=5==OE D45>F E>EF46?O5F 2500 6O?>?=5==OE 54<=<F, 5N465F ?> 7465DL5=<N ?D>5>F4 
4 10 000 45=56=OE 54<=<F. 
1. '5<G D465= <=45>E 6O?>?=5=<O EF><<>EF< (CPI) 4?O 44==>7> ?D>5>F4 < GF> >= 7>6>D<F > 
E>EF>O=<< ?D>5>F4 =4 44==O= <><5=F? 
2. �?D545?<F5 >F>?>=5=<5 ?> EF><<>EF< CV MF>7> ?D>5>F4? 
3. �?D545?<F5 >F>?>=5=<5 ?> EF><<>EF< SV < EF4FGE ?D>5>F4 (>FEF45F ?<5> >?5D5645F 7D4D<> 
D45>F)? 
4. �?D545?<F5 ?D>7=>7 EF><<>EF< ?> 7465DL5=<N ��% ?D< GE?>6<<, GF> F5>GM<5 >F>?>=5=<O 
EG<F4NFEO F<?<G=O<<? 
�. �4><5 <5F>4O >>=FD>?O 6O <>65F5 ?D<<5=<FL > D54?<74F<< ?D>5>F4 E6>5= >GDE>6>= 
(6O?GE>=>= >64?<D<>4F<>==>=) D45>FO? �>744 G<5EF=> ?D<<5=5=<5 MF<E <5F>4>6 >>=FD>?O? 
�> >4><< ?>>474F5?O< E?54G5F >>=FD>?<D>64FL 64L ?D>5>F? �F> < >>744 4>?65= ?>?GG<FL 
<=D>D<4F<N > E>45 D54?<74F<< ?D>5>F4? 
 
�D4>F<G5E>>5 7444=<5 78 
 
%D>D<G?<DG=F5 >E=>6=O5 FD55>64=<O > >4G5EF6G 64L5= >GDE>6>= (6O?GE>=>=) D45>FO. 
�4><<< <5F>44<< 6O 5G45F5 ??4=<D>64FL >4G5EF6> < 4>5<64FLEO 57> >55E?5G5=<O? �4> 
<>6=> >>=FD>?<D>64FL >4G5EF6> 64L57> ?D>5>F4 < 57> >E=>6=>7> D57G?LF4F4? 
 
�D4>F<G5E>>5 7444=<5 79 
 
�?O ?D>5>F4 64L5= >GDE>6>= (6O?GE>=>= >64?<D<>4F<>==>=) D45>FO >?D545?<F5, >F> <>65F 
EF4FL ?>EF46M<>>< D5EGDE>6. �4 >4><E GE?>6<OE 6O <>65F5 ?>?GG<FL MF< D5EGDEO? '5< 6O 
DG>>6>4EF6G5F5EL ?D< 6O5>D5 ?>EF46M<>>6? �4?<L<F5 >D<F5D<<, ?> >>F>DO< 6O 5G45F5 
>EGM5EF6?OFL >F5>D ?>EF46M<>>6 D5EGDE>6. 
 
�D4>F<G5E>>5 7444=<5 710 
 
�5NOE=<F5, 6 G5< 4?O ?D>5>F4 64L5= >GDE>6>= (6O?GE>=>=) D45>FO 5G45F 74>?NG4FLEO 
74>DOF<5. %>EF46LF5 <F>7>6O= >FG5F ?> ?D>5>FG. �4><5 ?D>5?5<O 6OO6<?<EL 6 E>45 
D54?<74F<< ?D>5>F4, < >4><E <>6=> 5O?> 5O <75564FL? �4><5 GD>>< 6O 6O=5E?< =4 
5G4GM55? �?D545?<F5, >4>>= ?D>7D4<<=O= ?D>4G>F 64< 5O?> 5O F5?5E>>5D47=> 
<E?>?L7>64FL 4?O ?>6OL5=<O MDD5>F<6=>EF< 6O?>?=5=<O 64L57> ?D>5>F4. 

�D<F5D<< < L>4?4 >F5=>< ?D4>F<G5E>>7> 7444=<O/D45>FO 

>F?<G=> EFG45=F E4<>EF>OF5?L=> < ?D46<?L=> D5L<? GG55=>-
?D>D5EE<>=4?L=GN 7444GG, G65D5==>, ?>7<G=>, ?>E?54>64F5?L=> < 
4D7G<5=F<D>64=> <7?474? E6>5 D5L5=<5, <E?>?L7GO ?>=OF<O 
4<EF<??<=O. 

E>D>L> EFG45=F E4<>EF>OF5?L=> < 6 >E=>6=>< ?D46<?L=> D5L<? GG55=>-
?D>D5EE<>=4?L=GN 7444GG, G65D5==>, ?>7<G=>, ?>E?54>64F5?L=> < 
4D7G<5=F<D>64=> <7?474? E6>5 D5L5=<5, <E?>?L7GO ?>=OF<O 
4<EF<??<=O. 

G4>6?5F6>D<F5?L=> EFG45=F 6 >E=>6=>< D5L<? GG55=>-?D>D5EE<>=4?L=GN 7444GG, 
4>?GEF<? =5EGM5EF65==O5 >L<5><, E?45> 4D7G<5=F<D>64? E6>5 
D5L5=<5, <E?>?L7GO 6 >E=>6=>< ?>=OF<O 4<EF<??<=O. 

=5G4>6?5F6>D<F5?L=> EF46<FEO, 5E?<: EFG45=F =5 D5L<? GG55=>-?D>D5EE<>=4?L=GN 
7444GG. 
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&<?>6O5 6>?D>EO 4?O ?D><56GF>G=>= 4FF5EF4F<< 
1. �4><5 646=O5 E?5F<D<G5E><5 E4D4>F5D<EF<>< ?D<EGM< ?N5><G ?D>5>FG? 
2. �5D5G<E?<F5 ?D<=F<?O, >4><<< =5>5E>4<<> DG>>6>4EF6>64FLEO ?D< D47D45>F>5 <5F>4>6 

< EF4=44DF>6 G?D46?5=<O ?D>5>F4<<. 
3. � G5< 74>?NG45FEO 646=>EFL ?D46<?L=>= ?>EF4=>6>< F5?5= ?D>5>F4? �4><< >D<F5D<O< 

MF< F5?< 4>?6=O >F65G4FL? 
4. �5D5G<E?<F5 6=5L=<5 D4>F>DO, >>47O64NM<5 6?<O=<5 =4 ?D>5>F. 
5. �5D5G<E?<F5 DG=>F<<, >>F>DO5 6O?>?=ONF GG4EF=<>< ?D>5>F4 =4 D47=OE EF44<OE 57> 

6<7=5==>7> F<>?4. �4> <5=ONFEO DG=>F<< 6 746<E<<>EF< >F D47O ?D>5>F4? 
6. �5NOE=<F5, ?>G5<G 646=> 4>5<64FLEO E>7?4E>64=<O <=F5D5E>6 6E5E GG4EF=<>>6 ?D>5>F4. 
7. �EE>4O <7 >4><E >D<F5D<56 <>6=> 6O45?OFL D47O 6<7=5==>7> F<>?4 ?D>5>F4? 
8. �4><<< ?D5<<GM5EF64<< >5?444NF D47=O5 F<?O >D74=<74F<>==OE EFDG>FGD, 6 D4<>4E 

>>F>DOE <>65F 5OFL D54?<7>64= ?D>5>F? 
9. 9 'F> F4>>5 <574-?D>5>FO? �D<654<F5 <765EF=O5 64< ?D<<5DO. 
10. �47>6<F5 D4>F>DO, >>F>DO5, ?> 64L5<G <=5=<N, 6O7O64NF ?>O6?5=<5 ?D>5>F>6. 
11. 'F> 4>?6=4 GG<FO64FL M>>=><<G5E>4O <>45?L ?D>5>F4? 
12. �>OE=<F5 EGFL ?D>5>F=>7> ?>4E>44 > >D74=<74F<< 5<7=5E4. 
13. � G5< 74>?NG45FEO D47=<F4 <564G D<E>>< < =5>?D545?5==>EFLN? �5NOE=<F5, ?>G5<G 

D<E> 4 5>?55 646=4O >4F57>D<O 4?O ?D>5>F=>= 45OF5?L=>EF< < ?>G5<G D<E> >5N5>F<6=> 
E6>=EF65=5= ?N5O< ?D>5>F4<. 

14. � G5< E>EF><F 646=>EFL ?D46<?L=>= >?4EE<D<>4F<< D<E>>6 ?D< G?D46?5=<< ?D>5>F4<<? 
15. �4><< >5D47>< >EGM5EF6?O5FEO G?D46?5=<5 ?D>5>F=O<< D<E>4<<? �5D5G<E?<F5 

>E=>6=O5 MF4?O G?D46?5=<O D<E>4<< < >5D<EG=F5 >DG7 6<4>6 45OF5?L=>EF<, E6O74==O= E 
>464O< MF4?><. 

16. �4><5 <5F>4O >>?<G5EF65==>= >F5=>< ?D>5>F=OE D<E>>6 �O 7=45F5? 
17. � G5< E<OE? 6545=<O 6GD=4?4 D<E>>6 ?D>5>F4? 
18. �5D5G<E?<F5, >4><5 7444G< D5L45F ??4=<D>64=<5 ?D>5>F4. 
19. �5D5G<E?<F5, >4><5 MF4?O 6>?NG45F 6 E55O EF4=44DF=4O ?D>F54GD4 ??4=<D>64=<O. 
20. �4G5< =G6=> >EGM5EF6?OFL 45>><?>7<F<N ?D>5>F4? �4 >4><E ?D<=F<?4E >=4 

>EGM5EF6?O5FEO? 
21. �4 >E=>65 >4><E >D<F5D<56 ?D>6>4<FEO D475<5=<5 ?D>5>F4 =4 7444G< < ?4>5FO D45>F? 
22. �5D5G<E?<F5, >4><5 DG=>F<< 6O?>?=ONF 6 ??4=<D>64=<< ?D>5>F4 E5F56>5, >4?5=44D=>5 

??4=<D>64=<5. 
23. �4 >E=>64=<< >4><E <5F>4>6 >EGM5EF6?O5FEO E5F56>5 < >4?5=44D=>5 ??4=<D>64=<5 

?D>5>F4? 
24.  �4><<< <5F>44<< <>6=> >?D545?<FL 4?<F5?L=>EFL >?5D4F<= 
25. ?D>5>F4? �>G5<G <5F>4 PERT =4<5>?55 G4EF> <E?>?L7G5FEO ?D< >?D545?5=<< 

4?<F5?L=>EF< >?5D4F<=? 
26. �4> =4?<G<5 45D<F<F=OE <?< <75OF>G=OE D5EGDE>6 <>65F ?>6?<OFL =4 D4E?<E4=<5 

?D>5>F4? 
27. % ?><>MLN >4><E <5F>4>6 <>6=> >F5=<FL EF><<>EFL ?D>5>F=OE D45>F? �4><5 

6>7=<>4NF ?D>5?5<O ?D< <E?>?L7>64=<< >464>7> <7 ?>4E>4>6 > >F5=>5 EF><<>EF<? 
28. �4>GN D>?L <7D45F 5N465F 6 ??4=<D>64=<< ?D>5>F4 < G?D46?5=<< <<? �4><<< 

<5F>44<< >EGM5EF6?O5FEO D>D<<D>64=<5 5N465F4 ?D>5>F4? 
29. �4> >D74=<7G5FEO D<=4=E<D>64=<5 ?D>5>F4? 
30. �5D5G<E?<F5, >4><5 <EF>G=<>< D<=4=E<D>64=<O ?D>5>F4 6O 7=45F5. � G5< ?D5<<GM5EF64 

< =54>EF4F>< <E?>?L7>64=<O E>5EF65==OE < 745<=OE <EF>G=<>>6 D<=4=E<D>64=<O? 
31. �5NOE=<F5, >4>GN D>?L <7D4NF >>=FD>?L < <>=<F>D<=7 6 D54?<74F<< ?D>5>F4 
32. �5D5G<E?<F5, >4><<< <5F>44<< <>6=> >EGM5EF6<FL >>=FD>?L <E?>?=5=<O ?D>5>F4. 
33. �F> 4>?65= >EGM5EF6?OFL <>=<F>D<=7 D54?<74F<< ?D>5>F4? 
34. �>G5<G 6 E>45 D54?<74F<< ?D>5>F4 =5<7556=O <7<5=5=<O? 
35. �4> E>>F=>E<FEO E<EF5<4 G?D46?5=<O <7<5=5=<O<< < E<EF5<4 G?D46?5=<O 

>>=D<7GD4F<5= ?D>5>F4? 
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36. �4><5 F<?O 7444G ?D54GE<>FD5=O 6 MS Project? 
37. �4><5 F<?O >4?5=44D5= ?D54GE<>FD5=O 6 MS Project? 
38. �4> ?D>E<>FD5FL 4<47D4<<G �4=F4 4?O D47=OE 65DE<= ??4=4 ?D>5>F4? 
39. �4>4O <5F>4<>4 >F5=>< EF><<>EF< ?D>5>F4 <E?>?L7G5FEO 6 ED545 MS Project. 
40. �4><5 ?>?O MS Project ">F65G4NF" 74 4>EFG?=>EFL D5EGDE4? 
41. �7<5=O5F ?< ?D>7D4<<4 44==O5 4?O 7444G ?D< 4=4?<75 ?> <5F>4G PERT? 

 
�D<F5D<< < L>4?4 >F5=>< M>74<5=4 ?> 4<EF<??<=5 

 

�F5=>4 %4D4>F5D<EF<>< >F65F4 EFG45=F4 
�F?<G=> - EFG45=F 7?G5>>> < 6E5EF>D>==5 GE6><? ?D>7D4<<=O= <4F5D<4?; 

- G65D5==>, ?>7<G=>, ?>E?54>64F5?L=> < 7D4<>F=> 57> <7?4745F; 
- >?<D4OEL =4 7=4=<O >E=>6=>= < 4>?>?=<F5?L=>= ?<F5D4FGDO, 
F5E=> ?D<6O7O645F GE6>5==O5 =4GG=O5 ?>?>65=<O E ?D4>F<G5E>>= 
45OF5?L=>EFLN M>>=><<EF4; 
- G<5?> >5>E=>6O645F < 4D7G<5=F<DG5F 6O46<745<O5 << <45<; 
- 45?45F 6O6>4O < >5>5M5=<O; 
- E6>5>4=> 6?4455F E<EF5<>= M>>=><<G5E><E ?>=OF<=. 

%>D>L> - EFG45=F F65D4> GE6><? ?D>7D4<<=O= <4F5D<4?, 7D4<>F=> < ?> 
EGM5EF6G <7?4745F 57>, >?<D4OEL =4 7=4=<O >E=>6=>= ?<F5D4FGDO; 
- =5 4>?GE>45F EGM5EF65==OE =5F>G=>EF5=; 
- G6O7O645F GE6>5==O5 7=4=<O E ?D4>F<G5E>>= 45OF5?L=>EFLN 
M>>=><<EF4; 
- 4D7G<5=F<DG5F =4GG=O5 ?>?>65=<O; 
- 45?45F 6O6>4O < >5>5M5=<O; 
- 6?4455F E<EF5<>= M>>=><<G5E><E ?>=OF<=. 

'4>6?5F6>D<F5?L=> - EFG45=F GE6><? F>?L>> >E=>6=>= ?D>7D4<<=O= <4F5D<4?, ?> 
EGM5EF6G <7?4745F 57>, >?<D4OEL =4 7=4=<O F>?L>> >E=>6=>= 
?<F5D4FGDO; 
-  4>?GE>45F =5EGM5EF65==O5 >L<5>< < =5F>G=>EF<; 
- <E?OFO645F 74FDG4=5=<O 6 ?D4>F<G5E>>< ?D<<5=5=<< 
D<=4=E>6OE 7=4=<=; 
- E?45> 4D7G<5=F<DG5F =4GG=O5 ?>?>65=<O; 
- 74FDG4=O5FEO 6 D>D<G?<D>64=<< 6O6>4>6 < >5>5M5=<=; 
- G4EF<G=> 6?4455F E<EF5<>= M>>=><<G5E><E ?>=OF<=. 

�5G4>6?5F6>D<F5?L=> - EFG45=F =5 GE6><? 7=4G<F5?L=>= G4EF< ?D>7D4<<=>7> <4F5D<4?4; 
- 4>?GE>45F EGM5EF65==O5 >L<5>< < =5F>G=>EF< ?D< 
D4EE<>FD5=<< D<=4=E>6OE ?D>5?5<; 
- <E?OFO645F FDG4=>EF< 6 ?D4>F<G5E>>< ?D<<5=5=<< 7=4=<=; 
- =5 <>65F 4D7G<5=F<D>64FL =4GG=O5 ?>?>65=<O; 
- =5 D>D<G?<DG5F 6O6>4>6 < >5>5M5=<=; 

 
8. ''����-��&���'�%��� � ��$�$��&������ ���%��'����  

��%&�����/ 
8.1. �E=>6=4O ?<F5D4FGD4 
1. �G5, �. &.  '?D46?5=<5 ?D>5>F4<< : GG55=<> < ?D4>F<>G< 4?O ED54=57> 

?D>D5EE<>=4?L=>7> >5D47>64=<O / �. &. �G5. 4 �>E>64 : �744F5?LEF6> .D4=F, 2020. 4 422 E. 
4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-01505-8. 4 &5>EF : M?5>FD>==O= // 
-�% .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/452585  

2. '?D46?5=<5 ?D>5>F4<< : GG55=<> < ?D4>F<>G< 4?O ED54=57> ?D>D5EE<>=4?L=>7> 
>5D47>64=<O / �. �. �4?4L>6, �. �. $>7>64, �. �. &<E>=>64, �. �. &>4G5=>> ; ?>4 >5M5= 
D544>F<5= �. �. $>7>6>=. 4 �>E>64 : �744F5?LEF6> .D4=F, 2020. 4 383 E. 4 
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(�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-03473-8. 4 &5>EF : M?5>FD>==O= // -�% 
.D4=F [E4=F]. 4 URL: https://urait.ru/bcode/450707  

 
8.2. �>?>?=<F5?L=4O ?<F5D4FGD4 
1. �>E>6<=, %. �.  '?D46?5=<5 ?D>5>F4<< 6 ED5D5 >5D47>64=<O : GG55=>5 ?>E>5<5 4?O 

6G7>6 / %. �. �>E>6<=. 4 �>E>64 : �744F5?LEF6> .D4=F, 2020. 4 139 E. 4 (�OEL55 
>5D47>64=<5). 4 ISBN 978-5-534-11817-9. 4 &5>EF : M?5>FD>==O= // -�% .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/457183  

2. �>D>=F>6E><=, �. �.  '?D46?5=<5 D<E>4<< : GG55=<> < ?D4>F<>G< 4?O 6G7>6 / �. �. 
�>D>=F>6E><=. 4 2-5 <74. 4 �>E>64 : �744F5?LEF6> .D4=F, 2020. 4 485 E. 4 (�OEL55 
>5D47>64=<5). 4 ISBN 978-5-534-12206-0. 4 &5>EF : M?5>FD>==O= // -�% .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/450664  

3. �5554564, &. �. �5F>4O < ED54EF64 G?D46?5=<O ?D>5>F4<< : GG55=>-<5F>4<G5E>>5 
?>E>5<5 / &. �. �5554564, �. %. �>E>64. 4 '5?O5<=E> : .6=>-'D4?LE><= <=EF<FGF 
G?D46?5=<O < M>>=><<><, 2017. 4 79 c. 4 ISBN 978-5-9909865-1-0. 4 &5>EF : M?5>FD>==O= // 
-?5>FD>==>-5<5?<>F5G=4O E<EF5<4 IPR BOOKS : [E4=F]. 4 URL: 
http://www.iprbookshop.ru/81304.html 

4. &<?>6O5 D5L5=<O 6 G?D46?5=<< ?D>5>F4<< / �. �. �4E<?L56, �. .. �4?>6=56, �. �. 
�>6<>>6, �. �. &65F>>6. 4 �>E>64 : ��' $��, 2003. 4 75 c. 4 ISBN -. 4 &5>EF : 
M?5>FD>==O= // -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 IPR BOOKS : [E4=F]. 4 URL: 
http://www.iprbookshop.ru/8522.html 

 
�5D<>4<G5E><5 <744=<O: 
1. IT-Expert [-?5>FD>==O= D5EGDE] 3 $56<< 4>EFG?4: 

(http://www.iprbookshop.ru/54365.html) 
2. �D<>?44=4O <=D>D<4F<>4 3 $56<< 4>EFG?4: (http://www.iprbookshop.ru/11770.html) 
3. �D>7D4<<=O5 ?D>4G>FO < E<EF5<O 3 $56<< 4>EFG?4: 

(http://www.iprbookshop.ru/25852.html) 
 

8.3. �D>7D4<<=>5 >55E?5G5=<5 
Microsoft Windows 3 �?5D4F<>==4O E<EF5<4 
Microsoft Office 3 �D<E=>5 ?D>7D4<<=>5 >55E?5G5=<5 (F5>EF>6O= D544>F>D, F45?<G=O= 

D544>F>D, D544>F>D ?D575=F4F<=, ?>GF>6O= >?<5=F) 
MS Project. 
 

8.4. �47O 44==OE, <=D>D<4F<>==>-E?D46>G=O5 < ?><E>>6O5 E<EF5<O, �=F5D=5F-
D5EGDEO 

%?D46>G=>-?D46>64O E<EF5<4 «�>=EG?LF4=F�?NE» 3 http://www.consultant.ru/ 
�><E>>6O5 E<EF5<O 

�><E>>64O E<EF5<4 Google 3 https://www.google.ru/ 
�><E>>64O E<EF5<4 Yandex 3 https://www.yandex.ru 
�><E>>64O E<EF5<4 Rambler 3 http://www.rambler.ru 
 
8.6. �=F5D=5F-D5EGDEO 
�4<=4O >>??5>F<O F<DD>6OE >5D47>64F5?L=OE D5EGDE>6 - http://school-collection.edu.ru/ 
-?5>FD>==4O 5<5?<>F5>4 «�E5 GG55=<><» - http://www.vse-ychebniki.ru/ 
&<DD>6>= >5D47>64F5?L=O= D5EGDE IPRsmart» - http://www.iprbookshop.ru/ 
�4GG=4O M?5>FD>==4O 5<5?<>F5>4 - http://www.elibrary.ru/ 
�>DF4? >F>DOFOE 44==OE 3 https://data.gov.ru/ 
�4GG=4O M?5>FD>==4O 5<5?<>F5>4 «�<55D?5=<=>4» - http://cyberleninka.ru/ 
�4F<>=4?L=4O -?5>FD>==4O �<5?<>F5>4 (�-�)- https://rusneb.ru 
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9. ��&�$���,��-&�%��'�%��� ���%��'���� ��%&�����/ 

�?O D54?<74F<< 4<EF<??<=O =5>5E>4<<> E?54GNM55 <4F5D<4?L=>-F5E=<G5E>>5 
>55E?5G5=<5: 

ý 4?O ?D>6545=<O ?5>F<=, GD>>>6 3 4G4<F>D<O, >5>DG4>64==4O GG55=>= <555?LN < 
ED54EF64<< >5GG5=<O: ?D>5>F>D><, ��, M>D4=><, 4>E>>=; 

ý 4?O ?D>6545=<O 6E5E 6<4>6 ?45>D4F>D=OE < ?D4>F<G5E><E 74=OF<=, 4<EF<??<=4D=>=, 
<564<EF<??<=4D=>= < <>4G?L=>= ?>47>F>6>< 3 >><?LNF5D=O= >?4EE E ?<F5=7<>==O< 
?D>7D4<<=O< >55E?5G5=<5<. 

ý 4?O ?D>6545=<O ?D><56GF>G=>= 4FF5EF4F<< 3 >><?LNF5D=O= >?4EE E ?<F5=7<>==O< 
?D>7D4<<=O< >55E?5G5=<5<. 

ý 4?O E4<>EF>OF5?L=>= D45>FO 3 ?><5M5=<5, >E=4M5==>5 >><?LNF5D=>= F5E=<>>= E 
6>7<>6=>EFLN ?>4>?NG5=<O > E5F< «�=F5D=5F» < >55E?5G5=<5< 4>EFG?4 6 M?5>FD>==GN 
<=D>D<4F<>==>->5D47>64F5?L=GN ED54G �=EF<FGF4. 

 
10. �%������%&� �%�����/ ��%&�����/ ��&��� % ��$���'���/�� 

��������%&/�� ���$��,/ 
�5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D54>EF46?ONFEO 

E?5F<4?L=O5 GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O, E?5F<4?L=O5 
F5E=<G5E><5 ED54EF64 >5GG5=<O >>??5>F<6=>7> < <=4<6<4G4?L=>7> ?>?L7>64=<O, GE?G7< 
4EE<EF5=F4 (FLNF>D4), >>47O64NM57> >5GG4NM<<EO =5>5E>4<<GN F5E=<G5E>GN ?><>ML, 4 
F4>65 GE?G7< EGD4>?5D56>4G<>>6 < F<D?>EGD4>?5D56>4G<>>6. �D74=<74F<O >55E?5G<645F 
?5G4F=O<< </<?< M?5>FD>==O<< >5D47>64F5?L=O<< D5EGDE4<< 6 D>D<4E 444?F<D>64==OE > 
>7D4=<G5=<O< <E 74>D>6LO. 

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO < 
<=64?<44<< <>65F 5OFL >D74=<7>64=> E>6<5EF=> E 4DG7<<< >5GG4NM<<<EO, 4 F4>65 6 
>F45?L=OE 7DG??4E. 

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO < 
<=64?<44<< >EGM5EF6?O5FEO E GG5F>< >E>55==>EF5= ?E<E>D<7<G5E>>7> D476<F<O, 
<=4<6<4G4?L=OE 6>7<>6=>EF5= < E>EF>O=<O 74>D>6LO. 

� F5?OE 4>EFG?=>EF< ?>?GG5=<O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O ?> 
>5D47>64F5?L=>= ?D>7D4<<5 ?<F4<< E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D< 
>E6>5=<< 4<EF<??<=O >55E?5G<645FEO: 

1) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> 7D5=<N: 
3 ?D<EGFEF6<5 FLNF>D4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN ?><>ML E 

GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, ?5D546<74FLEO, 
?D>G<F4FL < >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 ?<EL<5==O5 7444=<O, 4 F4>65 <=EFDG>F<< > ?>DO4>5 <E 6O?>?=5=<O >D>D<?ONFEO 
G65?<G5==O< LD<DF><, 

3 E?5F<4?L=O5 GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O (<<5NM<5 
>DG?=O= LD<DF <?< 4G4<>D4=?O), 

3 <=4<6<4G4?L=>5 D46=><5D=>5 >E65M5=<5 =5 <5=55 300 ?N>E, 
3 ?D< =5>5E>4<<>EF< EFG45=FG 4?O 6O?>?=5=<O 7444=<O ?D54>EF46?O5FEO 

G65?<G<64NM55 GEFD>=EF6>; 
2) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> E?GEG: 
3 ?D<EGFEF6<5 4EE<EF5=F4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN ?><>ML E 

GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, ?5D546<74FLEO, 
?D>G<F4FL < >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 >55E?5G<645FEO =4?<G<5 76G>>GE<?<64NM5= 4??4D4FGDO >>??5>F<6=>7> ?>?L7>64=<O, 
?D< =5>5E>4<<>EF< >5GG4NM5<GEO ?D54>EF46?O5FEO 76G>>GE<?<64NM4O 4??4D4FGD4 
<=4<6<4G4?L=>7> ?>?L7>64=<O; 

3 >55E?5G<645FEO =44?564M<<< 76G>>6O<< ED54EF64<< 6>E?D><76545=<O <=D>D<4F<<; 
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3) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO, <<5NM<E =4DGL5=<O >?>D=>-
46<74F5?L=>7> 4??4D4F4: 

3 ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 >><?LNF5D5 E> E?5F<4?<7<D>64==O< 
?D>7D4<<=O< >55E?5G5=<5< <?< =44<>F>6O64NFEO FLNF>DG; 

3 ?> 65?4=<N EFG45=F4 7444=<O <>7GF 6O?>?=OFLEO 6 GEF=>= D>D<5. 
 

�D>7D4<<4 E>EF46?5=4 6 E>>F65FEF6<< E FD55>64=<O<< $��% %�� ?> E?5F<4?L=>EF< 
08.02.14 ->E??G4F4F<O < G?D46?5=<5 <=>7>>64DF<D=O< 4><><. 
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